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uchar _t *hdr dat a;
uint_t *bi nar yt abl e;
uint_t hdrof f;

Aliste idx;

Addr hdr addr ;
Gs_desc *hdr osp;
OGs_desc *osp;

Gs_desc *first_unw nd;
uint_t fde_count;
uint_t *uint_ptr;

int bswap = (ofl->of | _flagsl & FLG OF1_ENCDI FF) !
/*

* Are we building the unwi nd hdr?

*

if ((hdrosp = ofl->ofl _unwi ndhdr) == 0)

return (1);
hdrdata = hdrosp->o0s_out dat a- >d_buf;
hdraddr = hdrosp->o0s_shdr->sh_addr;
hdroff = 0;
/'k
* version ==
*/

hdrdat a[ hdrof f ++] = 1;
/*

* The encodi ngs are:

*

* eh_franeptr_enc sdatad4 | pcrel
* fde_count _enc udat a4

* table_enc sdata4 | datarel

*/

hdr dat a[ hdr of f ++]
hdr dat a[ hdr of f ++]
hdr dat a[ hdr of f ++]

DW EH PE sdata4 | DWEH PE pcrel;
DW EH PE _udat a4;
DW EH PE_sdata4 | DWEH PE datarel;

/*
* Header Offsets
K e e e e e e e e e e m——m -
* byte versi on +1
* byte eh_frame_ptr_enc +1
* byt e fde_count _enc +1
* byt e tabl e_enc +1
* 4 bytes eh_frame_ptr +4
* 4 bytes f de_count +4
*/

/* LINTED */

bi narytable = (uint_t *)(hdrdata + 12);
first_unwind = 0;
fde_count = 0;

for (APLI ST_TRAVERSE( of | ->of | _unwi nd, idx, osp)) {

uchar _t *dat a;
size_t si ze;
ui nt 64_t off = 0;

new usr/src/cnd/ sgs/ i bl d/ cormon/ unwi nd. c

541
542

544
545
546
547
548
549

551
552
553

555
556
557

559
560
561
562
563
564
565
566

568
569
570
571

573
574
575
576
577
578
579
580
581

583
584
585
586
587
588
589
590

592
593

595
596
597
598
599

601
602
603
604
605

ui nt _t cieRflag = 0, ciePflag = O;
Shdr *shdr;
/*

* renenber first UNWND section to
* point toin the frane_ptr entry.
*/
if (first_unwind == 0)

first_unwi nd = osp;

data = osp->o0s_out dat a->d_buf;
shdr = osp->os_shdr;
size = shdr->sh_si ze;

while (of f < size) {
uint _t length, id;
ui nt64_t ndx = 0;

/*
* Extract length in Isb format. A zero length
* indicates that this CTEis a termnator and that
* processing of unwind information is conplete.
*/
length = extract_uint(data + off, &ndx, bswap);
if (length == 0)
goto done;
/*

* Extract CIEid in |Isb format.
/

id = extract_uint(data + off, &ndx, bswap);

*

* ACErecord has a id of '0'; otherw se
* this is a FDE entry and the 'id is the
* ClE pointer.

*

if (id == 0)
char *ci eaugstr;
uint_t cieaugndx;
uint_t cieversion;

ciePflag
cieRfl ag
/*

0;
0;

* We need to drill through the CIE
* to find the Rilag. It's the Rflag

* whi ch describes how the FDE code-pointers
*

are encoded.
*/

cieversion = data[off + ndx];

ndx += 1;

/*

* augstr

*/

ci eaugstr = (char *)(&dataf[off + ndx]);
ndx += strlen(cieaugstr) + 1;

/*

* calign & dalign

*/

(void) uleb_extract(&datalo
(void) sleb_extract(&datafo
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} else {

/*
* retreg
*/
if (cieversion == 1)
ndx++;
el se
(void) uleb_extract(&data[off], &ndx);
/*
* we wal k through the augnentation
* section now | ooking for the Rflag
*
/
for (cieaugndx = 0; cieaugstr[cieaugndx];

ci eaugndx++)
/* BEG N CSTYLED */
switch (cieaugstr[cieaugndx]) {
case 'z':
[* size */
(void) ul eb_extract(&data[off],
&ndx) ;
br eak;
case 'P':
/* personality */
ciePflag = data[off + ndx];
ndx++;
*

* Just need to extract the
* value to nove on to the next
* field.
*/

(void) dwarf_ehe_extract(
&dat a[ of f ],
&dat a[ of f + ndx],
&ndx, ciePflag,
of | ->of | _dehdr->e_i dent, B_FALSE
shdr->sh_addr, off + ndx, 0);

br eak;

case 'R :

/* code encoding */

cieRflag = data[off + ndx];

ndx++;

br eak;

case 'L':

/* | sda encoding */

ndx++;

br eak;

}
I* END CSTYLED */

uint_t bi nt abndx;
ui nt 64_t i nitloc;

ui nt 64_t f deaddr;

ui nt 64_t gotaddr = O;

if (ofl->ofl _osgot != NULL)
gotaddr =
of | - >of | _osgot - >0s_shdr->sh_addr;

initloc = dwarf_ehe_extract (&ata[off],
&ndx, cieRflag, ofl->ofl_dehdr->e_ident,
B_FALSE,
shdr->sh_addr, off + ndx,
got addr) ;

/*
* lgnore FDEs with initloc set to O.
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done:

* initloc will not be 0 unless this FDE was

* abandoned due to GNU |inkonce processing.

* The 0 val ue occurs because we don’t resolve
* sloppy relocations for unwi nd header target
* sections.
*/
if

(initloc !'= 0)
bi ntabndx = fde_count * 2;
f de_count ++;

/*
* FDEaddr is adjusted
* to account for the length & id which
* have al ready been consuned.
*
/

fdeaddr = shdr->sh_addr + off;

bi naryt abl e[ bi nt abndx] =
(uint_t)(initloc - hdraddr);

bi naryt abl e[ bi ntabndx + 1] =
(uint_t)(fdeaddr - hdraddr);

}

/*

* the | ength does not include the length
* jtself - so account for that too.

*/

off += length + 4;

*
* Do a quicksort on the binary table. If this is a cross
* link froma systemwi th the opposite byte order, xlate
* the resulting values into LSB order.
*/

franehdr _addr = hdraddr;
gsort((void *)binarytable, (size_t)fde_count,
(size_t)(sizeof (uint_t) * 2), bintabconpare);
if (bswap)
uint_t *btable = binarytable;
uint_t cnt;

for (cnt = fde_count * 2; cnt-- > 0; btable++)
*btabl e = | d_bswap_Word(*btable);

}

/*

*Fill in:

* first_franme_ptr
* f de_count

*/

hdroff = 4;

/* LINTED */

uint_ptr = (uint_t *)(&hdrdata[hdroff]);
*uint_ptr = first_unw nd->0s_shdr->sh_addr -
(hdr osp->o0s_shdr->sh_addr + hdroff);
if (bswap)
*uint_ptr = I d_bswap_Word(*uint_ptr);

hdrof f += 4;

/* LINTED */

uint_ptr = (uint_t *)&hdrdata[hdroff];
*uint_ptr = fde_count;
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if (bswap)
*uint_ptr = I d_bswap_Word(*uint_ptr);

If relaxed relocations are active, then there is a chance
that we didn't use all the space reserved for this section.
For details, see the note at head of |d_unwi nd_nake_hdr () above.

* ok kb k%

Find the PT_SUNW UNW ND program header, and change the size val ues
* to the size of the subset of the section that was actual ly used.
*
/
if (ofl->ofl _flagsl & FLG OF1_RLXREL) {
Word phnum = of | - >of | _nehdr - >e_phnum
Phdr *phdr = ofl->of| _phdr;

for (; phnum- > 0; phdr++) {
if (phdr->p_type == PT_SUNW UNW ND) {
phdr->p_nensz = 12 + (8 * fde_count);
phdr->p_filesz = phdr->p_nensz;
br eak;

}

return (1);




